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H-N=C: VS H—C=N: 7

... we can deftermine which of these structures is more likely by calculating formal charges!

(-0 = © H: | —1-0 = O
Cib-3-2 = =) GY=H-0 - 0
N:§—H -0 = +) Vi~ -2 O

Which structure is more likely?

The HCN (structure on the right) is more likely than the HNC structure. The HCN sfructure
has lower formal charges.
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Let's look at sulfur trioxide. SO 3
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Resonance
structures.

To decide which structure is preferred, let's look at formal charges.
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a The preferred structure of sulfur frioxide is the expanded
-6 valence version! (It has lower formal charges than the
5. 6-6-0 = resonance version which obeys the octet rule.)
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